
Ginące zawody

Poziom trudności: Średni

1. Który z nich jest ginący:

A - ochroniarz

B - balwierz

C - barman

2. Ginący jest....

A - parkieciarz

B - hutnik

C - kołodziej

3. Ginący jest....

A - drukarz

B - druciarz

C - drwal

4. Ginący jest........

A - szatniarz

B - sufler

C - strycharz

5. Ginący jest.......

A - broker

B - bednarz

C - bibliotekarz

6. Ginący jest......

A - klikon

B - kiper

C - kaletnik
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7. Ginący jest.......

A - sekser

B - saper

C - smolarz
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Ginące zawody

Poziom trudności: Średni

Karta odpowiedzi

1. B

2. C

3. B

4. C

5. B

6. A

7. C
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